SLOT GUARD ASSEMBLY
(SEE SM-GR-2T7)

ANCHOR PLATE ASSEMBLY
(SEE SM-GR-28)

DEFLECTOR ANGLE OF SLOTGUARD SHOULD BE

TYPICAL POST SPACING AT 1905 mm - ITEM NO. 705M02.02

POSITIONED IMMEDIATELY DOWNSTREAM OF SLOTS.

\\‘BEND RAIL AT POST NO. 4 AND DO NOT ATTACH RAIL TO
CREATE STRAIGHT TAPER FROM POST NO. 2

O TO 460 OVER 5.715 m

7.620 m - 1TEM T05M04.04

19 mm DIA. CABLE X 2.0 m W/
SWAGE FITTINGS (SEE SM-GR-28)

END TERMINAL ELEMENT
(SEE SM-GR-15)

6 mm X 50 mm HEX HEAD LAG SCREWS
TO PREVENT PLATE ROTATION
THRU 8 mm DIA. HOLES [N PLATE & BENT

127

TRAFFIC

B —

254

MEASURED AT_BACK OF RAIL

1.905 m | 1.905 m

N

1.905 m

STANDARD GUARDRATL
(WOOD OR W-BEAM STEEL POSTS & BLOCKS)

. M16 X 32 mm BUTTON £
i~ HEAD BOLTS AND NUTS |

M16 X 35 mm BUTTON
HEAD BOLTS AND

f—f——NUTS (SEE SM-GR-14) &

11

— I ey gy Iy Sy N S SR g S
o
o o e e e e oo —
3 a7
v
|1
| | 8- M6 X 32 mm BUTTON
v HEAD BOLTS AND NUTS
|1 REQUIRED FOR EACH
v SLOT GUARD ASSEMBLY
i i (SEE SM-GR-2T7)
v
L

200 mm X 150 mm X 1830 mm WOOD POST
(W150 X 14 STEEL POSTS MAY BE ALTERNATED)

M16 X 457 mm BUTTON
HEAD BOLTS,
NUTS, AND WASHERS
THROUGH 22 mm DIAMETER

REV. 11-1-95: CHANGED TO METRIC.

REV. 5-27-98: REPLACED SHELF
ANGLE WITH BACK UP PLATE ON POST
NO. 2

REV. 12-18-98; MODIFIED OLD
GENERAL NOTE (A AND COMBINED IT
WITH OLD GENERAL NOTE (A3 TO MAKE
NEW GENERAL NOTE (8.

REV. 5-27-99: REMOVED GROUND STRUT
ASSEMBLY DETAILS FROM DRAWING.

REV. 5-27-01: CHANGED PAY [TEM
NO. 705M04.21 TO 705M04.04. ADDED
SPECIAL GUARDRAIL INSTALLATION NOTE.

REV. 7-1-01: CHANGED SPECIAL
GUARDRAIL INSTALLATION NOTE.

REV. 9-5-01: CHANGED HEADING FOR
SPECIAL INSTALLATION NOTE.

e | ih
T — ' —
= i NI e cs
+ — + | | 1l | T |{ I e\
|| S~~——sreciaL storren [ [sPeciaL siotren ! | _
RAIL ELEMENT RAIL ELEMENT 1 ]
| | m
! [ ANCHOR PLATE ASSEMBLY ' WaY.
| | BACK UP PLATE || ||| (ANCHOR PLATE; 8 - Wi6 || | I-T—I BACKGROUND: YELLOW (IN ACCORDANCE
1] | 1] (SEE SM-GR-27) _|_| X 38 mm HEX HEAD L] WITH STANDARD SPECIFICATION 916.06)
| | | BOLTS, NUTS, AND | COPY: BLACK
| | | | | | | WASHERS, AND 19 rm DIA. I‘ | | :
| | CABLE X 2.0 m |
I | I W/SWAG FITTINGS)
|| || | (SEE SM-GR-281 ||
@ @ | | | | GENERAL NOTES
B — | £ =~ THE POST OFFSET DIMENSIONS ARE GIVEN TO THE CENTER OF THE
©) TRAFFIC FACE OF THE BLOCKOUTS, EXCEPT AT THE FIRST TWO

200 mm X 150 mm X 1830 mm WOOD POST

A

SPECIAL INSTALLATION NOTE

STANDARD DRAWING NO. SM-GR-39.

FOR THE TYPE 21 GUARDRAIL TERMINAL TO FUNCTION AS IT WAS CRASH TESTED
UNDER NCHRP-350 TEST LEVEL 2 THE EARTHPAD MUST BE CONSTRUCTED PER SHALLUBE USED. "PAYMENT 1S To BE MADE UNDER [TEM 70404 . Gd

GUARDRAIL TERMINAL (TYPE 21).

M16 X 32 mm BUTTON HEAD BOLTS,
NUTS, AND WASHERS TO BE INSTALLED

200 mm X 140 mm X

M16 X 255 mm BUTTON

RAIL ON POST NOS. 2 THROUGH 6.

POSTS, WHERE THE DIMENSION IS TO THE CENTER OF THE TRAFFIC
FACE OF THE POST. OFFSET POINTS ARE TO BE LOCATED BY CHORD
MEASUREMENTS AT THE BACK OF THE RAIL EQUAL TO THE NOMINAL
POST SPACINGS SHOWN. POSTS ARE TO BE SET APPROXIMATELY
RADIAL TO THE RAILINGS AT EACH POST LOCATION.

(&2 ON ALL LOW SPEED ROADS NOT ON THE DESIGNATED STATE HIGHWAY
SYSTEM, INCLUDING SIDE ROAD TO STATE AND U. S. ROUTES, WHEN
THE CURRENT DESIGN SPEED 1S 60 KILOMETERS PER HOUR OR LESS,
THE SLOTTED RAIL TERMINAL - SRT 75 (TYPE 21) TERMINAL ANCHOR,

OMIT THE RECTANGULAR WASHER BETWEEN BUTTON HEAD BOLT AND

200 mm X 150 mm X 1110 mm WOOD POST
HOLE (SEE SM-GR-12) 200 mm X 150 mm X THRU ENLARGED AREA OF SLOT HEAD BOLTS,
ATTACH RAIL TO 1830 mm WOOD POST 1110 mm WOOD POST NUTS, AND WASHERS
POST NOS. 3 & 4 (NEED 1 ROUND AND 1
\ / SOUARE WASHER)
R L AT M16 X 255 mm BUTTON END TERMINAL £
178 (SEE SM-CR-27) HEAD BOLTS, — ELEMENT =
=P — = NUTS, AND WASHERS (SEE SM-GR-15)
THROUGH 19 mm DIAMETER 52.5 mm X 150 mm PIPE SLEEVE v
200 mm X 150 mm X 355 mm HOLE. DO NOT ATTACH [NSERTED INTO POST NO. 1 203 mm X 152 mm X 16 mm
BLOCKOUT 533 — RAIL TO POST NO. 2 SLOTTED BEARING PLATE
(SEE SM-GR-13)
—wwres O ™ST _W'f_ S ALL UNITS ARE IN MILLIMETERS
v~ g 200 mm X 150 mm X 16 mm UNLESS NOTED OTHERWISE.
406 M16 X 240 mm HEX HEAD BOLTS, NUTS, AND WASHERS (SEE SM-GR-28) SLOTTED BEARING
1830 100 mm X 76 mm 19 mm DIA. CABLE PLATE (SEE SM-GR-28)
LO - 60 mm DIA. 77 AT [* 10 mm PLATE X 2.0 m W/SWAG O MINOR REVISION -- FHWA
HOLE M16 X 190 mm HEX HEAD BOLTS, NUTS, AND WASHERS (SEE SM-GR-28) WASHER FITTINGS; M25 HEX S mm X 50 mm HEX HEAD APPROVAL NOT REQUIRED.
@ hHER FOR DS LAG SCREWS TO PREVENT
90 mm DIA. T STUD (SEE SM-CR-28) PLATE ROTATION THRU 8 mm DIA.
N HOLES 713 458 mm X 610 mm X 6 mm SOIL PLATE (SEE SM-GR-28) HOLES IN PLATE & BENT STATE OF TENNESSEE
' DEPARTMENT OF TRANSPORTATION
18 ™~ 203 mm X 152 mm X 4.8 mm STEEL TUBE SLEEVE 1525 mm LONG _—"
! (SEE SM-GR-28)
J GUARDRAIL TERMINAL
L L ANCHOR (TYPE 21)
g SECTION “A-A” 102 mm X 76 mm X 10 mm POST LAYOUT AND
=9 SECTION “B-B” ENLARGED VIEW AT POST NO. 1 PLATE WASHER ERECTION DETAILS
<8 (TYPICAL AT POST NOS. 3 & 4) (TYPICAL AT POST NO. 2) (SEE SM-GR-28)
S8 11-1-95 [ SM-GR-26

smgr26.dgn 8/17/2004 1:07:46 PM




